Algebra 1                 Review for Trimester 3 Final

Handout R-A3

Write an algebraic expression or equation.
1.     7 less than the product of 2 and a number cubed
2.     10 increased by 5 times a number is 4 times the number plus 12.
Evaluate.
3.     
[image: image130.jpg]


          4.     
[image: image2.wmf](

)

5

c

and

3

b

,

7

a

when

c

4

b

a

3

2

=

-

=

-

=

-

-


Simplify. 
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Solve.
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Write let statements (use one variable), a verbal model and an algebraic model.  Solve the equation.  Write a sentence to give the answer.
14.    You have 12 coins worth $1.95.  If you only have dimes and quarters, how many of each do 

         you have?  
15.    Graph  
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 by finding the x-intercept and the y-intercept.
16.    Rewrite  
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 in slope-intercept form and then graph. 

17.    Graph 
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18.    Graph  
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Find the slope of the line that passes through the given points.
19.   (2, 4) and (-1, 5)
         20.    (-4, 7) and (-4, 12)

  21.    (-6, -3) and (9, -3)

22.   Find  
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Write an equation in slope-intercept form of the line that:

23.    has a slope of -8 and a y-intercept of 12
24.    passes through points (6, -4) and (2, 8)
25.    is parallel to  y = -9x - 3 and passes through the point (0, -5).            
26.    is perpendicular to  y = 2x + 1 and passes through the point (2, 5).
27.   Write the equation   
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 in standard form.
Solve the linear system using the substitution method.
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Solve the linear system using the elimination method.
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Determine whether the linear system has no solution, one solution or infinitely many solutions.
32.
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Solve by first writing a system of equations.
34.    A sightseeing bus charges $5 for children and $8 for adults.  On its first trip of the day, it collected $230 for 37 paying passengers.  How many children and how many adults were there?

Solve.
35.     
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Solve and then graph.
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Graph the inequality 
41.
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Simplify.
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 Classify the polynomial by degree and number of terms.
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Add, subtract, or multiply to simplify.

50.    
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Factor the expression.
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Solve the equation or write no real solution. (Simplify radical solutions!)
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61.   Solve  
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62.   Solve  
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 by using the quadratic formula..

63.   Find the discriminant for 
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64.   Graph the equation  
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 by finding the coordinates of the vertex, and 

       completing a table of values.

Simplify.
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Solve.
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77.    A right triangle has one leg that is 4 feet.  The hypotenuse is  
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feet.  Find the length of 

        the other leg.

78.    Find the distance between the points 
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Write an equation and then solve.     
79.    Two drivers left Chicago at the same time, one traveling east at a speed that was 20 miles per hour faster than the other, which was traveling west.  After 4 hours, the drivers were 600 miles apart.  Find their speeds.
80.    It takes Manny 3 hours to clean the school.   Henry can do the same job in 4 hours and Bill can do it in 6 hours.  How long will it take to clean the school, if they all work together?
Evaluate.
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Simplify.
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